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allotted for the candidates 1o reag

the queslions carefully.

This question booklet ts divided iny,

(wo sections — Section-A apy

Section-B.

there

Section-A, are

In
80 objective type guestions; oy
of which any 40 questions are t,
be answered. Lach question
carmies 1 mark. If a candidate
answers more than 40 questions,
then answers of first 40 guestions
will be evaluated only. For
answering these darken the circle
with blue / black ball pen against
the correct option on OMR Answer

Sheet provided to you. Do not use
whitener / liquid / blade / nail
elc. on OMR Answer Sheet;
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treated invalid.
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YT - ¥ / SECTION - A

TR W / Objective Type Questions

T WEN 18 80 7% wgra gy §1 i @ Fr 40 A a7 I A )

T ST & W s By g e § ok @ ot 41 o v g oy
W& Fober &t OMR ¥z W Fafrr w1 40 % 1= 40

Questicn Nos. 1 to 80 are of objective lype. Answer any 40 guestions. Each
question has four options out of which only one is correct. You have to
mark your selected option on the OMR sheet. - 40 x 1 = 40
L of3w & et g 2
(A} Mgco, (B] Na,CO,
(C) caco, (D) Mg (HCO,),

The chemical formula of Chalk is

(A)  MgCO, B) Na,CO,

{C) CacCo, (D) Mg (HCO,),
2. Penfen § - yig vl v d 0

Ay =] (B) sl

(€ i D) w&W
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| 112 ]
Which of the following metals is the most ductile ?

(A}l Gold \ (B)  Copper

1 Iron D) Zinc

%WWCEHHE.%%WW#W§?

Ay 2 B 3

C) 4 O s

Hoew many structural isomers of pentane, having molccular

formula CgH,, are passible ?

(A} 2 B 3

<) 4 0 3
nfframte W SC0 R wE §

(A Cesers ag B) fw g
iﬂl T IRS B | Dy i W

The functional group >CO is called
(A}  aldehyde group (B} cther group

(C] alcohot group (D) carbonyl group

24(M)-H/S-41003- (97801 Page 5 of 40




5. ﬁ@%m%mmmﬁmmmmélﬂg
A 1o 5 o 1 g e Frifien o 3 9 8 TR 2
(A)  fafweis @) EEA
) Hfegm (D] W
A metal reacts with oxygen to form a compound with high melting
point, This compound is soluble in water. Which of the following
¢lements can iy be 2
(A} Silicon (B) Carbon
(€)  Calcium (D] Iron
6. nwmErse e g w1 awes 2 o
(A) Mg B) Cu
(C)  Fe (D) Au
Malachite is an ore of which metal 2
(A) Mg (B) Cu
(C) Fe (D] Au
7. R w e wa aid WY f B R et 8
(A)  foge A . LBy dEw
© frge smEe (D) NeadtmE .
The process of coating a layer of zinc on iron is called
(A c]::ctroplatir;g - . [(B) corresion
’ (C) clectrolysis P (D]  galvanisation

e —— .
24(M)-H/S-41003-(59/60 Pagc 6 of 40




8.

10.

faeat & finz 3 - s o Fm 2 o

A s o B e
(C)  wifhs e D)  ERYEITE He
Which of the following acids is found in vincgar ?

[{A)  Accelic acid (B)  Sulphuric acid
(€} Formic acid (D) lydrochloric acid
R %t Pl aredsie anea 3 @ 2
(A) 18 %m B 1@ s
©) 1% wwam ‘(D) 0

The absolute refractive index of air is actually

{A)  lcss than ] =B}  more than |

(C}  equaltol D) O

Aig—A1%-71e % Faferas g0 3940 3 ST SR dren &
(A) 39 g (B) ¥=ael W

(© wwE g CEECEE ki
Mirror used by ENT ( Ear-Nose-throat ) doctor is

(A) convex mirror _[B) concave mirror

(C) planc mirror (D} nonc of these

[112I
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11,

12.

13.

1112 |
afegn i forw Yo & 3vam g R 2
(A) 99 (B) AT
(€) ulq (D)
Which of the following gascs is used in welding ?
(A) Mecthanc (B) Ethyne
(C) Ethanc .+ (D) Ethene
TR (Alkene) ST BT o 2
Al C, H,,,, B) C,H,, ,
€ C,H,, (D) CHan
The gencral formula of an alkene is
(Al C,H,,., B) €, Hy, 2
€ C,H,, (D) C,Haz,
fabdgsh-wa=s saidad?
(A)  Igen B) R
© s a D) wHaAwh
Which one of the following is a clcan energy source ?
(A} Coal (B) Wood
~{C)  Natural gas | (D) All of thesce
[24(M)-H/5-4 1003-(s9/60) Page 8 of 40
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| 112 |
B Wi Ry py wom & €19 PE w2 2
A} A0# 4.3 ' 3y SO0#SK
) 60868 D) 7-QH7-§
Within which pH range docs our body work ?
(Al 401048 {B) 50tc58

C) 60wes (D) 70178

15, TEERR %1 s g Pl § WA 2

16.

&) CoH.OH (B]  CyH,0,
() CEJH‘ ] Zoﬁ ) (D) Cﬁ Hﬁ

Which of Lhe following is the chemical formula of glucose 2

"(A)  C,H,OH (B) CHOg
(€ G620, (B CeHy

| e & QT ms:n ] .
(A} 17 {(B) 20
© 11 D) 14

The atomic number of sedium is
(A) 17 {B) 20

@ 11 (D) 14

24(M)-H/S-41003-(ss/50 Page 9 of 40




18.

19,

» Rl R Y
Meafarass 1 ey s 12 &1 gl graen &
@ 1 B 2

C) 3 . oy 4
The atomic number of magnesiun is 12, What is its valency 2
(A1 (1) 2

< 3 D) 4

ﬁt{ffcﬁiﬂﬁﬁ?ummr R 3w o@m & fas d eligl G A o
(A)  dfsr - (3 #ifsm

(C) icham (D) AfafEn

Which of the following metals is displaced from its salt solution by

iron ?
(A) Copper (B} Sodium
(C) Caleium (D) Magnesium

e Yeeleler %1 s I forw Al Ram g0 RET S 2
(A) IT=EA (B] W=

(C) Tava (D) MsiF

| 24(M)-H/ S—4E]U3-{£9!6&]| Page 10 of 40
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The commercial production of cthyl alcohol is done by which

chemical process ?

(A}  Oxidation {(B) Recduction

(C]  Fermentation (D) Roasting
20. &N TN w b gE w0

(A} CatOHy, B) CaO

(C) CafHCO,), D) CaCO,

What is the chemical formula of quicklime ?

(A} CalOH), (B) Ca0O
(C) CafHCO,), " M caco,
21, A& 39% 2
(A)  NaCl +KIO, (B} NaCl+ Kl
€ (A 3K (B) (D) wH A R
lodized ;‘.all bs
[A}  NaCl +KIO, /B] NaCl +KI
{C) Both (A) and [B]- (D) Nonc of these
22. R 3% A = TEEh W R 2
A T e (B) HRma acke MR

© oy wethe Piesse (D) Ffewam wEe

24(M)-H/5-41003-89/601 Page 11 of 40
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. 5 ?
Whalt is the chemical name of Plaster of Paris

(A} Calcium sulphate

(B)  Calcium sulphate monohydratc

(D)  Calcium chioride

23 s il 3w Sufm @ 8 0

24,

(A) el (B)
© == ©)
What is present in cathode rays ?
(A} Electron. (B)
(C) Ncutron (D)

&% § 9w B K- By R o
(A) T (B)
(C) =t . (D)

Calcium sulphate hemihydralc

LI
@ A B3 W

Proton

Nonc of these

Tt
¥ A H

Which modc of nutrition is found in fungi ?

(A) Holozoic B -

(C) Autotrophic (D)

[24(M)-H/S-41003-(so7501 ]

Saprophytic

None of these
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25. e gfe Qv ) fuafafes # FFa & % g0 goe s R 2
(A) R (B) I

SR S D) W
Which of the following lcnses is uscd to rcmove short sightedness ?
(A)  Cylindrical (B) Canvex
€} Concavc (D]  Bifocal
26. % 8 W ek awh e Reedl w1 wfwey s g 2
A)  Ih@I F e | (B) g Y8 R
C) fPwraFabiggw (D) A+
Most of the refraction of the light rays entering the cye occurs at
(A) Interface ofeyelens  (B) Intcrface of aqueous humour

(C)] Outer surface of cornea (D} None of these

27. Tofefigs § * ou i e e 2 2
[A) ERIATR (B) €”
(S )
Which of the following is the unit of power of lens ?
—{A)  diopire (B) watt

(C) crg (D) joule

24[M)-H/ S-41003-{s9/60) Page 13 of 40




28.

209,

30.

[112}

mﬁaﬁﬁs«mmﬁ«wm% ?
@B T

(D) A

(A) Iad
(C) Adael

: c?
What typc of lens is found in human €y

(A} Convex (B) Bifocal
(C) C'oncavc (D) Cylindrical
oo 3 forg, P e o 3 @ @ ?
A o @) W &
o) @SR

() 3 T
Which mirror is used as shaving mirror ?

Planc mirror

_ﬁ(} - Concave mirror (B)

(C) Convex mirror (D] None of thesc

Rre g &1 Fiae 2001 g w1 St ST, e aen @ @ W@
T, @ a%q 6 Rufa wai @ =few 2

(A) THA FF ¥ TH (B) W& BIHA TY1 THdT Hg & o1

(C) THAT-Hg W - (D) T F YI AU g HEA F 6

| 24(M)-H/S-41003-(sse/s0 Page 14 of 40




1112}

Il the image of an object formed by a concave mirror is virtual,
erect and larper than the object then where should be the jocation

of the object ?

(A} Beyond the centre of curvature

{B}  Between principal locus and cent re of curvaturce
(C) At the centre of curvature

(D) Belween the pole and principal focus of the marror
1 1 R ) Dt ) s Bl SEd 8

(A) 8 (B) - 3@ I &A1 &l SIAR

(C) oW &) guaT sy (D) ¥ & %ig 7
The capucity 1o bend rays of light is called

(Al  the power of lens

(B} the reciprocal of the power of the lens

(C) the power of accommadation of the lens

(D} nonc of these

A ofF g0 Wi afefes g
(A) o (B) W
(© (D) T8

24(M)-H/5-41003-153/60) : Page 15 of 40



(A}  diminished gy erect
(C)  virtual apy ol of thest
33. I W R e R 2
(a) dem PR i
€ vk . p
The word 'Gene' was coined by
(A)  Mendel | (B) * Johannsen
(©)  Lamarck (D) Darwin
34. Frefafea § fegdl g @i dm 2 2
A) dfwd @) doffEm d
© Fehud (D) e

In which of the following binary fission does not occur ?
_~ (A} Yeast | (B) Paramoecium
(C) Euglena (D) Amoeba .
35. W fi § @ e izt w9 § 2
(A) 3B (B) afdw
(C) ki . (D) YU

[24(M)-H/S-41003-ss/60) Pagc 16 of 40




36.

37.

38.

(1121

Pollen grains are formed in which of the following ?

(A} Ovary (B) Style

€l leaves (D) Anther
*e =M Rrafim @ 2

(A} T gm (B ¥TgHH TN
(C)  wmRigg gr (D) fiFe o
Blocd pressure is controlled by

(A} Testis ~ (B) Thymus
(C)  Thyroid (D) Adrenal
F-H Al vaw= @3 @ G 2 2

(A)  mpE (8] wekn

() Fmifrn (D) swf

Which diseasec is rclated to respiratory system ?

(A) Diabetes (B) Malaria
(C) Pncumoma {D) Diarrhoca
w & weha 1w fafia w2

(A) TR B) SR
(C) T (D) P

24(M)-H/S-41003-59/69) Page 17 of 40



[ 112

The sugar level in blood is controlled by

(A)  Estrogen (B) .Propgesterone
L) Insulin (D) Relaxin
39, T wft d wed ol Hifir a3-d 2
) Bt PR
€ w =i (D) §cd Af¥E

Which is the longest cell of human body ?

(A)  Muscles (B) Nerve cell

(C)  Blood cell . (D)  Hecart cell

30, gﬁg‘mfim{waﬁw-muﬂww@m%?

(A)  retETgge B SN

(C) =@ (D) yfee
Which part of the food is digested in buccal cavily ?
(A) Carbohydratc (B) Protein

(C) Fat (D)  Nucleic acid

a1, Sewq 9T ATAT 2
(A) <=eH (B) I!?'“?ﬁ

(C) FH (D} MY

24(M)-H/S-41003-(ss/60) | Page 18 of 40



€1 mgi g

(B)

(D)

(B)

(D)

Androgen is scereted by the

(A)  ovary
(€} Duodenum
43.  wfdfer wpy @
A)  dg =
C) IEmmE w
Style is part of
(A)  Filament
(C)] Ovary
44, mgofl W B
(A} HE T& =l
(C) W€ ATa W

(B)

(D)

(B)

(D)

(B

(D)

(B)

(D)

[112]

Rose

Mango

EAMURIY

AR g

Testes

Stomach

AT ]

[T Fl

Gynoccium

Stamen

ITHET H

DA il W

|24(M)-H/ 8-41003-s9/60)|
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46.

47.

| 112,

Duodenum is a part of

(A} Buceal cavity B) Stomach

{C) Largc intestine (D) Small intestine
sy 3 e Rz, e, Y qen gt P <1 2
(A) IS &3 ) S A
(€)= () 7w

In human beings, nasal cavily, larynx, trachca and lungs combinc

to form

(A)  excretory system (8] reproductive system
(C) digestive system (D) respiratlory system
UrZY H S5e™ Fegeh 3

(A)  HATFT = (B) wfF ana dags

(C) i g (D) MM HeEa

In plants, xylem is responsiblc for

(A)  oxygen conduction (B) amino acid conduction
€] water conduction (D) food conduction
foratfer 2

(A) U9 EHH (B) T

(C) @HEEEge (D) aH

[24(M)-H/S-4 1003-(s9760) Page 20 of 40
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Glhbcrl‘"m ig
A a phylshormone (B) an cnzyme
(C) Earbnhydraw (D) faL ’

48, TR0 % e ey arew @A &SRO g 2 2

49.

(A) iy (B) i v
©  wremin (D) wiRE

Wilting of leaves is duc to which phytohormone ?
(A} Ethylene (B) Abscisic acid

(C)  Cytokinin (D)  Auxin
Hﬁﬂuﬁtmﬁmﬁﬁmnmwwéﬁwgﬂuﬁﬁﬂﬁma'
7 Wi @

(A) TAETR 3§ B wfegH

(C) & T8 1 wFm | (D) T A oY 7E

Oul of a combination of resistors, one resistor is removed and it is
found that the necl resistance has increascd. The resistor was

connccted in
(A} parallcl (B) serics

[C) cannot be said (D) nonc of these

lﬂﬂMl-_HfSAlooi:ﬁma Pagc 21 of 40




o0,

a1,

S2.

| ||2-|

& T (60 W, 200 v) e (10w, 200V) & Q IFHT 100 V A
93 &1 $ 30w whe R
A 25w B) 10W
C) 15w D) T ¥ FIE T
TWo appliances rated as (60 W, 200 V ) and ( 40 W, 200 V | ar’
conneccted acrass 100 v supply in a room. Thc total powcr
consumed is
(A 25w B) LOW
€ 15w (D) none of these
ﬁqiﬁmiiaﬁq-mqaﬁga_quﬁ Rrga-vfs %1 frefia & ¢ 2
(A)  I°R B) V2R
€ w (D) i & ot
Which of the following expressions rcpresent(s) clectric power in
the circuit ? https://www.bsebstudy.com
A} I°R (B) V¥R
cCy w /U,'.)] All of these
I W § Had w1 e A 3
A2 B) 1
© 5 (D) 3

The maximum valuce of magnification in a convex mirror is
(A) B) 1

2
© 5 (D) infinite

i 24(M)-H/S-41003-59/60) | Page 22 of 40
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1112]

favere T T 2

A 0 g (B)  divefict g
(©) Eﬁw ALy (D) ¢ g

Potenuial differenee 1s measurcd by

(A} ammeter _{B) voltmeter

(€@ voltameter (1)) all of these

Frifa & 9-m e e 2 2

(A) _ii'l?vb-trfiqmaafm B) de = WM + g
C) U -drz-am (D) TRW = 3+ Fe
Wtiich of the following statements is true ?

(A)  volt = ampere < ohm (B) volt =ohm = ampcrc
(C) amperc=volt+ohm (D) amperc =ohm + volt
Frfofaa et @ e 2

(A) s B) FI9

©) T=fafrm (D) <t Brgt

Which of the following substances is a conductor ?

(Al Mica (B) Glass

1)  Aluminium (D} Porcelain

24(M)-H/S-41003-(sss60)] Page 23 of 40




56.

o97.

[112)
M s s1m 3 5 e, P 3 4 37w 4 2
) @ @) R
€ Yfufam (D} swiftrm

Which of the lollowing is necessary Lo obtain nuclear cnergy ?

(A)  Helium (B} Uranium

-

(D) Chromium

Frefefien § IS B2

(&) 3rem B)

(C) g D) %o TR
Which of the following is the male gamete ? |
(A)  Ovum B Sperm

{C)  Ovary

(D)  Fallopian tube
e e W e 2

(A)  MEtewr
C) IR

(B)  #rifeem
0 i

An example of parasitic plant is

(A)  Mushroom 12) Bryophylium

(C)  Cuscutg (D) Pinys



50.

60.

6l.

(1121
fea=a am My
Al wa B3) ¥Eg A
() e (D) W 8 w5 7l
Birary fission is found in
(A} Sponge (B) Hydra
(€)  Bacteria (D)  Nonc of these
WA B $H-q1 @i A @ R 2
(A) G (B) M
(C) g D wafm
Which hormonc is scereted (rom pancreas ?
(A) Epinephrine (B) Testosteronc
(C)  Norepinephrinc (D) Insulin
frafafigs 3 @ 39 © = ym TR & Rre IoErd 2 2
(A) T faamy (B) R T BivH
(C) A T =hifer (D) %} F§ &

Which among the following is responsible for clotling of blood ?

(A}  Bleod platclets (B)] WBC

(C} RBC (D) Nonc of Lthese

24(M)-H /S-41003-i59/601 Page 25 of 40




62.

63.

64.

. . [112]
gelle Staurial g fFm s 6 e vl w1 e fm g o

(A)  giwn (B] amifan
C) = g (D) W 4 ah

Which type of nitrogenous wastes is excreted by living organisms 2

(A) Urc:;l (B)

Ammonia
(C)  Uric acid D) Allof these
e 3 8 e wlhes wiedy @ s 2
(A) TR (B) wrifR
(C) TRINS | (D) (A) 3R (C) o
The change in body that occurs during adolescence is due to
(A) Testosteronce ' (B) Thyroxine
(C)  Estrogen (D)  Both (A) and (C)
YR 1 T S T@ar & _
[A} EQERL B) ¥lsm
(C) dfEem (D) wikss By .

The body is balanced by the organ

(A)  Cranium (B) Cerebrum

-
o

(C) Cerebellum (P] Brain stem

24(M)-H/S-41003 1960 Page 26 of 40




[112 J

65 ENTEUSO, 5 zns0, + cu

PR Q Ty Ty, Al fag S 2 o

&) m:' il B) foemm sfifen

C) T srfvfe (D) REm vl

n + CuS(}‘{ - ZnSO4 +Cu

The above reaction is an c¢xample of a

(A) Combination reaction

(B)  Displacement reaction

(C)  Double displacement reaction

(D}  Dccomposition reaction
66. INYFH Had anolt § i @ IRl 3R 9 W OREY] F AFER

(A)  FEER (B) @A R

(©) fafda @ 2 (D) ¥ 8 B W

On moving from right to left across the period of the modern

periodic table, the atomic size

(A) increases B}  decreases

(C) remains unchanged (D} none of these

| 24 (M}-H/8-4 1003-(s9/60) Page 27 of 40




67.

68.

69.

112

Wﬂﬁhﬁmntﬁmaﬁwram%,a3ﬂﬂmaﬂﬁa?ﬂ%

(A] e B) T
(C) Swshien 39en (D)

uccd by it i
When magnesium ribbon is ignited, the lame produccd by it is

(A} Yellow (B) Bluc
J-Q*’]' " Da.zzling white (D) Red

TN iR qa o H, & v 2

(A) O wEUdeE WuT (B] 8 AREANS 999

(C) 7 wgHdlss Sy (D) 6 HEEdSH qYA

The molccular formula of cthanc is C,H,. It has

(A) 9 covalent bonds (B) B.covalcnt bonds

[C) 7 covalent bonds (D) 6 covalent bonds

wied Pl & gt afedl %) e & fore s &1 aren et oo @
(A) wifern &t (B] AR I Ufw

(C) el I (D) Toam

The chemical substance used as a cast for sclting broken bones in

SUrgery is
(A) Washing soda 91 Plaster of Paris
(C)] Quickilime (D) Gypsum
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71.

72.

o . 1121
et 3 N R e . |
(A) K
©) cH, e
| (D) NaCl
Which onc of 1, following is a covalent compound ?
A)  KQ) B Mg,
© cH, (D) NaCl
SRR FNR 1 el Faeras o &
(A) R B) w=ha
€ ol (D) - i & o 7l
An aqueous solution of ammonium chloride is
(A} ncutral ' (B) acidic
(C)  basic (D) nonc of these
fr=ifira & Y fage w1 guEw @ 2
(A) confeeE (B) N
(C) Tu® (D) T%Re

Which of the following is a good conductor of electricity ?
(A)  Plastic (B) lodine

(C) Sulphur 4D} Graphite
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73.

74,

75.

_(Cl 40 cm

I Ilz]
TG 20 cm & et dr A N P A
A) 15em (B) 10cm
C)  40cm (D) 60cm
The radius of curvature of a concave mirror of focal length 20 em jg

A 15¢m (B) 10cm

(D) 60cm
mﬁ“mﬁﬂmﬁammmﬁgimﬁﬁ

TR T W wRy g

(A Trgem (B) YOI qUEAA

€ I -Rydyy (D) W aaf

A white ray is incident obliquely on a glass slab. Which of the

following will occur with the first refraction ?

(A)  Deviation (B) Total reflection
(@) Dispersion (D) Allof these
ute] forgn wRow § serfts om0 g 2

A) = B W

(€} Il (D) den

In domestic electric circuit the colour of neutral wire is
(A) Red B} Green

(C} Black (D)  Yellow
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76.

77.

78.

8 4 i Favres oy o ol a0 ol e @ 2
(A) o e (B) A=
€ Fwafn (D) fge af

In which device does the split ring act as a commutator ?

(A)  Elcctric motor (8) Galvanomcler
(C)  Voltmeter (D) Elcctric gencrator
#R F2l 9 D g i vz 71 s ) 9 8

(A) e dw (8) ga@ ¥

€ dhaw - (D) TaE &S

]|]2f

The device which directly converts solar cnergy into electricity is

(A) Danicl cell {(B) Drycell

(C) Solar cell (D) Evercady ccll

o g 74 & g % iy 1200 AW }) T = 220 W2 F fage AW

A freft R wwg a2
A) 12K (B) 2-3YfRRR
(C) 2P (D) 018 YR
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79.

80.

|

The¢ resistance of the filament of an clectric bulb is 1200 ohmy

How much clectric current will the bulb draw from an clectr,
saurce of 220 vols ?

(A) 12 ampere (B) 2-8 ampcrce

(€} 2 ampere (D) ©-18 ampere

“‘aﬁaﬂﬁqh‘ﬂﬁm]-sv?i 1C 3R A T FM

Ay 1-5v @ 34

<) 159 ° o 0

The clectromotive force of a cell is 1'3 V. ’l‘hc work donc on passing

a charge of 1 C will be

Al 15V | 3J
€ 154 ] 0 .
TR O o9 P 2 o

(A) T FN TR W T H Toi- Rl % wH
(B) & ®U F =AW F F
(C) oW T 3&d Y6 F v Rdger F Fro
(D) 9 A Hrd T
Why is a rainbow colourful ?
_l&]  Dispersion of white light by water droplets
(B) Absorption of water droplets
(C) Dispersion of white light by air

(D) None of these
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@vE -4 / SECTION - B
wifas v / Physics

Y T W [ Short Answer Typc Questions

, #
o7 WG I#saaagmwmﬁ#ﬁsﬁm#&mawwm

= B
fore 2 3% Fraifir & ¢
Question Nos. 1 to 8 are Short Answer Type. AnSWEr s que'g!:r ;
Each question carries 2 marks. 4X 2
I 2 m S g0 art R srae S A awa @ B |

Find the power of a concavc lens of 2 m focal length. )
2. ufeEu f uftum 2

Defline ampere. >
3. faae zdo & @ A 3 fed)

Wrile any three uscs of a concave mirror.
o sEftEln et w2 2 e QI ’

' it.
What is non-renewable source of cncrgy ? Give two _txamples of

s Ul o1 Wehioi wwemy) 2

Explain scattering of light.
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1 rehn Frad @ 2 SE ),

6. 3N ¥ frum § Fy-af) qfyr ayer el BT

Which quantity remains constont in on
's constant ? Explain,

7. mﬂa-t@]ﬁ%%aﬁuﬁaﬁfaﬁl

Writc any two properties of magnetie ficld 1ncs:

8. ¥ I 3in Y A ey ) oy A S Pt i @ 2

How does the eye control the amount of light entering

m's law, when temperatur,

intoit?

< Tl v Long Answer TYP® Questions

WPT A 9 3 10 3 awiia wyw 1 gk @ R vE @1 I §4 o

& ferg 6 3w Fraffia #

1x6=6

Question Nos. 9 and 10 are Long Answer Type. Answer any one of them.

Each question carries 6 marks.

-

9. wmaﬁw%fmmaﬁﬁ%

Prove for a concave mirror % +

1x6=6

| 24{M)-H/S-41003-(59/60)
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10 T 935 3 5 v

Whal is the |
'S the source of energy of the sun ? Explan.

A YA / Chemistry

Y Iwdig W / Short Answer Type Questions

mmll#l&mmmﬁw%mﬂ*ﬁhﬁ#ﬂ?ﬂﬁmi‘m*

Y 2 afw Fraffes 41 | 4x2=5

Question Nos. 11 to 18 are Short Answer Type. Answer any 4 questions:
Each question carries 2 marks. ax2=8
11, wifan gigiomss & f@@ i s 5 wifaw 8 @A @ oH- @

Higa fom v srfaa 210 & 7 2

How is the concentration of O™ ion affected on adding a basc in

excess to sodium hydroxide solution ?

12, <Afm T @ el Reenfi a0 ad @ afidmasi w5 e d g

3gE S 2
Mcntion two reactions that displace chlorine [rom bleaching

powder by giving cquation.
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14,

15.

16,

17.

18.

|112]

o : : 2
HERTTS du qm 3 p g Q) IO <

g . Ies ol it.
What is cavalent bond ? Give Lwe examp
HUF 1 R ? 2
Whal is an ore ?
TETaRE a9 s o i A € P 2
Why is it nccessary to balance a chemical equation ?
W F1 Ieha frerm Rga w1 Faer @6 F d P 2
Why does the aqucous solution of an acid conduct electricity ?
4 gl T Pk fdf € seimit & am qed) 2
Name any two industries dependent on forest resources.
BHWW &1 g ? WG @Agmdl 2

What is corrosion ? Explain with example,
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g
Wmf Long Answer Type Questions
gy7 W& 19 07 203?&‘33??7#!3#*#&??@573#?%:%%9"
msﬂﬁvfﬁati‘ 1,,5:5

Question Nos. 19 angd 26 are Long Answer Type. Answer any one of theit

-

Each question carries 5 marks. [x5-95
19. AR A uTg F frapdor § wgws il A ffee 5

Write the steps involved in the extracuon of mctals from oOrcs.

20. a9-9@ & GugA & o w ww R
Bricfly describe the benefits of rainwatcr harvesting.
-=ﬂu faar / Biology
WY I7HT W / Short Answer Type Questions
wv wear 21 % 28 7w sy Fwia &1 yod @ frt 4 uwt & sav 1 ARE 0T
%ﬁ-wzafmﬁmfﬁwt.r- 4x2=8

Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions.

Each question carries 2 marks. 4x2=8
21, TEHATMGR AT FE? 2

Whalt is sinoauricular node ?
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22.

23.

24,

23,

26.

27.

28.

SR 0 4 Y% qwes &) ward |

L]

Whal is ozonc ? Explain its importance:

DNA I7afierm s amure &1 %2 2

DNA is the basis of heredity. How ?

i i

What is hormone ?

gl & ot o w0 w2 o

What is the role of petals in flowers ?
gty = 3
What is cnvironment ?

g e W R 7

What is glycolysis ?

Ty &) ot 2

Define nutrition.

(112

[24(M)-H/S-41003-s5/60)]
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M It W / Long Answer Type Questions

T A 29 0y 3aﬁdm¢frﬁ#wwmmé1mwﬂ*

oy s oies Freife 4] 1x5=9
Question Nos. 29 ang 30 gre Long Answer Type. Answer any one of therm:
Each question carries 5 marks. ]x5=9
29. T Y W § o qoeer o At @ IwW fordl | >

Define pollination. Write the effect of rainfall on pollination.

3. T % g gt A-w G i, I e dg @ aEen P
ferd) 5
Writc about five important sexually transmilted diseascs, their

causal pathogens and symptoms.
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